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From the sentences , we are trying to seek the length of the rope which was

burned all night 1n the winter solstice.

It was burned 7 sun 1n 1 toka.
That means 1t was burned 4 shaku 2 sun 1n 6 toka.
It 1s 40 koku 1n the noon and 60 koku in the night in the day of summer

R EEEN English version solstice.

So 1f we put the burned length of the rope to X, we can make a formula such
We found the length of the rope which was burned for 1 toki . as:;4.2:40=X:60.
The rope was burned 7 sun . S0 X=6.3.
And the rope was burned for 6 toki . Therefore, we can know that the length of the rope 1s 6 shaku 3 sun.
The length of the rope became 4 shaku 2 sun .
We took 6 for this and divided it by 4 ;
We found day has 40 koku , night has 60 koku of the winter solstice . From the sentences , we are trying to sgek the distance which we can go 1n
So the length of the rope which was burned all night is 6 shaku 3 sun . the noon of the vernal and autumnal equinox.
The distance that we can go in 1 toki in daytime of the summer The distance was 3 r1 which we can go in 1 toki in the noon in the summer
solstice is 3 ri. solstice.
We multiply 3 ri and 5 together and divide it by 6 to find the And it is 60 koku in the noon in the day of summer solstice and it is 50 koku
distance we can go in daytime of the spring equinox and the 1n the noon in the day of vernal and autumnal equinox.
autumn equinox. So if we put the distance which we can go in the noon in the day of vernal
Day time of the SUINESY solstice is 60 k.oku. and autumnal equinox to X, we can make a formula such as;3:60=X:50.
Daytime of th.e spring and autumq equinoxes are 50 kOkl:l. engagement | Qo X=9 5.
S50 iouny f:llstance we can go In daytime of the spring and Asam1 Therefore, we can know that the distance which we can go in the noon in the
autumn equinoxes are 2 ri and half. Isioka . . .

vernal and autumnal equinox 1s 2.5 r1.

— engagement Ando Oikawa
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1 Day has 40 koku , night has 60 koku of the winter
solstice. So we found the length of the rope which
was burned all night by using a ratio .

2 Day has 50 koku of the spring and autumn
equinoxes , Day has 60 koku of the summer solstice .
So we found distance we can go in daytime of the
spring and autumn equinoxes by using a ratio .

That was so hard because length of 1
koku 1s different by season and we have to
think the time when the sun appears. It
was difficult to change ancient writing into
living language. We spent much time on
understanding how to answer the question

. - because it was a proof question.
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